R —

i AL (FREA 0 $UTH

T F A |2 SRR TE
T F 3 pr |SREKRTFZRTESE N

N = 44T A 12 B
AN AL K OV B AL Fn4 £ 7 A 28 B 11:25  BIfE4 FRE=E

T i o4 FE 8 H 2 H Y TMmLEHFE3IA3ZA FT
T OE i A% 39, 350, 000 M (T4 2B S O 7 BB DA BR <)
AR AL Al A 1 2 a ARG PR A B AALPRFIEA: BRI 4 H

= A E (KA 1/1084_EO%H)
NH % o= J\*L%jﬁ%ié%ﬁ (1) %*L@%ﬁfﬁ " »
5 1 A i hr

() /NI B 39, 100, 000
(A) 58 AR 38, 980, 000
() = LIS 38, 300, 000 2
() T3 39, 000, 000
() B A TR 39, 050, 000
(BK) AL e 37, 300, 000 1
() PAT R 39, 300, 000
(FR) B B R 38, 600, 000
() = T3 39, 200, 000
() ek 39, 300, 000

VEALIRTESFEH H B4FETH 29 A

X ORBEIL, AMLE
L7z (HREEHIC

FLHEHSFEOMIZ A SN T BFEI Y5 AEED 1004 D101 FE 24 2 %8 % NG
1 HERHEOMBEN DD & XL, TO&MEUIVETT-4%) ThbH,




